

<http://ansinet.com/itj>

ITJ

ISSN 1812-5638

# INFORMATION TECHNOLOGY JOURNAL

**ANSI***net*

Asian Network for Scientific Information  
308 Lasani Town, Sargodha Road, Faisalabad - Pakistan



then the inverse of T be an n×n Toeplitz matrix also and:

$$T^{-1} = \begin{bmatrix} 1 & & & & & & \\ a_1 & 1 & & & & & \\ a_2 & & \ddots & & & & \\ \vdots & & \ddots & \ddots & & & \\ a_{n-1} & \dots & a_2 & a_1 & 1 & & \end{bmatrix}$$

$$T = \begin{bmatrix} 1 & & & & & & \\ a & 1 & & & & & \\ b & a & 1 & & & & \\ c & b & a & 1 & & & \\ d & c & b & a & 1 & & \\ & d & c & b & a & 1 & \\ & & \ddots & \ddots & \ddots & \ddots & \\ & & & d & c & b & a & 1 \end{bmatrix}$$

where  $\alpha_1 = t_1$ :

$$a_j = -(t_j + \sum_{1 \leq k < j} a_{k-1} t_{j-k})$$

j ≥ 2.

$$B = \begin{bmatrix} b & a \\ c & b \\ d & c \\ & d \end{bmatrix}, C = B^T J, J = \begin{bmatrix} & & & & & 1 \\ & & & & & & 1 \\ & & & & & & & 1 \\ & & & & & & & & 1 \\ & & & & & & & & & 1 \\ & & & & & & & & & & 1 \end{bmatrix}$$

**Lemma 2.2:** (Fan and Qian, 1994) Let:

$$M = \begin{bmatrix} A & B \\ C & D \end{bmatrix}$$

is an n×n matrix, B is an n×m matrix, c is an m×n matrix, D is an m×m matrix. If A is invertible, then M is invertible if and only if D-CA<sup>-1</sup>B is invertible and:

$$M^{-1} = \begin{bmatrix} A^{-1} + A^{-1}B(D - CA^{-1}B)^{-1}CA^{-1} & -A^{-1}B(D - CA^{-1}B)^{-1} \\ -(D - CA^{-1}B)^{-1}CA^{-1} & (D - CA^{-1}B)^{-1} \end{bmatrix}$$

It is easy to see T is invertible and by Lemma2.1:

$$T^{-1} = \begin{bmatrix} 1 & & & & & & \\ a_1 & 1 & & & & & \\ a_2 & & \ddots & & & & \\ \vdots & & \ddots & \ddots & & & \\ a_{n-3} & \dots & a_2 & a_1 & 1 & & \end{bmatrix}$$

Where:

$$\begin{aligned} a_1 &= -a, a_2 = -(b + aa_1) \\ a_3 &= -(c + ba_1 + aa_2), a_4 = -(d + ca_1 + ba_2 + aa_3) \\ a_j &= -(da_{j-4} + ca_{j-3} + ba_{j-2} + aa_{j-1}), j \geq 5 \end{aligned}$$

**MAIN RESULTS**

In this study, without loss of generality, suppose that the pentadiagonal matrix A is nonsingular.

Decompose the pentadiagonal Toeplitz matrix A as the following perturbation:

$$A = MK^{n-2} \tag{2.1}$$

Let N = B<sup>T</sup>JT<sup>-1</sup>B. By above, it is easy to compute that:

$$N = \begin{pmatrix} m_1 & m_2 \\ m_3 & m_1 \end{pmatrix}$$

$$K = \begin{bmatrix} 0 & & & & & & 1 \\ 1 & 0 & & & & & \\ & 1 & 0 & & & & \\ & & \ddots & & & & \\ & & & \ddots & & & \\ & & & & 1 & & 0 \end{bmatrix} M = \begin{bmatrix} 1 & & & & & & b & a \\ a & 1 & & & & & c & b \\ b & a & 1 & & & & d & c \\ c & b & a & 1 & & & 0 & d \\ d & & & & \ddots & & & \\ & & & c & b & a & 1 & 0 \\ & & & & & & & \\ & & & & & & & \\ & & & & & & d & c & b & a & 0 & 0 \\ & & & & & & & & & & & \\ & & & & & & & & & & d & c & b & 0 & 0 \end{bmatrix}$$

Where:

$$\begin{aligned} m_1 &= a_n + aa_{n-1}, \\ m_2 &= a_{n-1}, \\ m_3 &= a^2 a_{n-1} + 2aa_n + a_{n+1} \end{aligned}$$

Let:

$$M = \begin{bmatrix} T & B \\ C & 0 \end{bmatrix}$$

then M is invertible and:

$$M^{-1} = \begin{bmatrix} T^{-1} - T^{-1}BN^{-1}B^TJT^{-1} & T^{-1}BN^{-1} \\ N^{-1}B^TJT^{-1} & -N^{-1} \end{bmatrix}$$

So:

$$A^{-1} = K^2 \begin{bmatrix} T^{-1} - T^{-1}BN^{-1}B^TJT^{-1} & T^{-1}BN^{-1} \\ N^{-1}B^TJT^{-1} & -N^{-1} \end{bmatrix}$$

where T is an (n-2)×(n-2) matrix, B is an (n-2)×2 matrix, c is an 2×(n-2) matrix and:

Thus, we have the following conclusion:

Theorem Let A be a nonsingular pentadiagonal Toeplitz matrix and  $A = MK^{n-2}$ . Partition M as:

$$M = \begin{bmatrix} T & B \\ C & 0 \end{bmatrix}$$

where, M, T, B, C and J are as above. Then:

- A is invertible if and only if:

$$m_1^2 - m_2 m_3 \neq 0$$

- $\det A = (-1)^n (m_1^2 - m_2 m_3)$

- $A^{-1} = K^2 \begin{bmatrix} T^{-1} - T^{-1}BN^{-1} & T^{-1}BN^{-1} \\ N^{-1}B^TJT^{-1} & -N^{-1} \end{bmatrix}$

**Proof:** Now we need to prove (2) only.

By the multiplication of block matrix, we have:

$$\begin{bmatrix} E_{n-2} & 0 \\ -CT^{-1} & E_2 \end{bmatrix} \begin{bmatrix} T & B \\ C & 0 \end{bmatrix} = \begin{bmatrix} T & B \\ 0 & -CT^{-1}B \end{bmatrix}$$

So:

$$\begin{bmatrix} E_{n-2} & 0 \\ -CT^{-1} & E_2 \end{bmatrix} \begin{bmatrix} T & B \\ C & 0 \end{bmatrix} = \begin{bmatrix} T & B \\ 0 & -CT^{-1}B \end{bmatrix}$$

Hence:

$$\det \begin{bmatrix} E_{n-2} & 0 \\ -CT^{-1} & E_2 \end{bmatrix} \cdot \det \begin{bmatrix} T & B \\ C & 0 \end{bmatrix} = \det \begin{bmatrix} T & B \\ 0 & -CT^{-1}B \end{bmatrix}$$

Since:

$$\det \begin{bmatrix} E_{n-2} & 0 \\ -CT^{-1} & E_2 \end{bmatrix} = 1, \det T = 1$$

So:

$$\det M = (-1)^n \det(B^TJT^{-1}B)$$

Finally, we have:

$$\det A = \det (MK^{n-2}) = \det M = (-1)^n (m_1^2 m_2 m_3)$$

The proof is complete.

According to the deduction above, we have the following algorithm:

**Algorithm 1:**

- Step 1:** Using Lemma 2.1, calculate:

$$T^{-1} = \begin{bmatrix} 1 & & & & \\ a_1 & 1 & & & \\ a_2 & & \ddots & & \\ \vdots & & \ddots & \ddots & \\ a_{n-3} & \dots & a_2 & a_1 & 1 \end{bmatrix}$$

- Step 2:** Calculate  $m_1, m_2, m_3$
- Step 3:** Calculate  $\det A = (-1)^n (m_1^2 - m_2 m_3)$

**Algorithm 2:**

- Step 1 Using Lemma 2.1, calculate:

$$T^{-1} = \begin{bmatrix} 1 & & & & \\ a_1 & 1 & & & \\ a_2 & & \ddots & & \\ \vdots & & \ddots & \ddots & \\ a_{n-3} & \dots & a_2 & a_1 & 1 \end{bmatrix}$$

- Step 2:** Calculate:

$$A^{-1} = K^2 \begin{bmatrix} T^{-1} - T^{-1}BN^{-1} & T^{-1}BN^{-1} \\ N^{-1}B^TJT^{-1} & -N^{-1} \end{bmatrix}$$

**NUMERICAL EXAMPLE**

This section gives an example to illustrate our results. All the following tests are performed by MATLAB 7.0.

Example 1: Given  $\alpha = 0, b = 1, c = 0, d = 1$  and  $n = 11$ , that is:

$$A = \begin{bmatrix} 1 & 0 & 1 & & & & & & & & \\ 0 & 1 & 0 & 1 & & & & & & & \\ 1 & 0 & 1 & 0 & 1 & & & & & & \\ \ddots & \ddots & \ddots & \ddots & \ddots & \ddots & & & & & \\ & & & & & & 1 & 0 & 1 & 0 & 1 \\ & & & & & & & 1 & 0 & 1 & 0 \\ & & & & & & & & 1 & 0 & 1 \end{bmatrix}_{11 \times 11}$$

$$M = \begin{bmatrix} 1 & & & & & & & & & & 1 & 0 \\ 0 & 1 & & & & & & & & & 0 & 1 \\ 1 & 0 & 1 & & & & & & & & 1 & 0 \\ 0 & 1 & 0 & 1 & & & & & & & 0 & 1 \\ \ddots & \ddots & \ddots & \ddots & \ddots & \ddots & & & & & \vdots & \vdots \\ & & & & & & 0 & 1 & 0 & 1 & 0 \\ & & & & & & 1 & 0 & 1 & 0 & 0 & 0 \\ & & & & & & & 1 & 0 & 1 & 0 & 0 \end{bmatrix}$$



$$a_0 = 0, a_{10} = -6, a_{11} = 0, a_{12} = 7$$

$$N = \begin{pmatrix} m_1 & m_2 \\ m_3 & m_1 \end{pmatrix}$$

Where:

$$m_1 = \alpha_{11} + \alpha_{10} = 0, m_2 = \alpha_{10} = -6, m_3 = 7$$

$$N = \begin{pmatrix} 0 & -6 \\ 7 & 0 \end{pmatrix}, N^{-1} = -\frac{1}{42} \begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix}$$

$$m_1^2 - m_2 m_3 = 42 \neq 0$$

A is invertible:

- $\det A = (-1)^{11} m_1^2 - m_2 m_3 = -42;$
- 

$$M^{-1} = \begin{bmatrix} -5/7 & 0 & 10/7 & 0 & -8/7 & 0 & 6/7 & 0 & -4/7 & 0 & 2/7 \\ 0 & -2/3 & 0 & 4/3 & 0 & -1 & 0 & 2/3 & 0 & -1/3 & 0 \\ 4/7 & 0 & -8/7 & 0 & 12/7 & 0 & -9/7 & 0 & 6/7 & 0 & -3/7 \\ 0 & 1/2 & 0 & -1 & 0 & 3/2 & 0 & -1 & 0 & 1/2 & 0 \\ -3/7 & 0 & 6/7 & 0 & -9/7 & 0 & 12/7 & 0 & -8/7 & 0 & 4/7 \\ 0 & -1/3 & 0 & 2/3 & 0 & -1 & 0 & 4/3 & 0 & -2/3 & 0 \\ 2/7 & 0 & -4/7 & 0 & 6/7 & 0 & -8/7 & 0 & 10/7 & 0 & -5/7 \\ 0 & 1/6 & 0 & -1/3 & 0 & 1/2 & 0 & -2/3 & 0 & 5/6 & 0 \\ -1/7 & 0 & 2/7 & 0 & -3/7 & 0 & 4/7 & 0 & -5/7 & 0 & 6/7 \\ 6/7 & 0 & -5/7 & 0 & 4/7 & 0 & -3/7 & 0 & 2/7 & 0 & -1/7 \\ 0 & 5/6 & 0 & -2/3 & 0 & 1/2 & 0 & -1/3 & 0 & 1/6 & 0 \end{bmatrix}$$

$$A^{-1} = K^2 \begin{bmatrix} T^{-1} - T^{-1} B N^{-1} B^T J T^{-1} & T^{-1} B N^{-1} \\ N^{-1} B^T J T^{-1} & -N^{-1} \end{bmatrix} = \begin{bmatrix} 6/7 & 0 & -5/7 & 0 & 4/7 & 0 & -3/7 & 0 & 2/7 & 0 & -1/7 \\ 0 & 5/6 & 0 & -2/3 & 0 & 1/2 & 0 & -1/3 & 0 & 1/6 & 0 \\ -5/7 & 0 & 10/7 & 0 & -8/7 & 0 & 6/7 & 0 & -4/7 & 0 & 2/7 \\ 0 & -2/3 & 0 & 4/3 & 0 & -1 & 0 & 2/3 & 0 & -1/3 & 0 \\ 4/7 & 0 & -8/7 & 0 & 12/7 & 0 & -9/7 & 0 & 6/7 & 0 & -3/7 \\ 0 & 1/2 & 0 & -1 & 0 & 3/2 & 0 & -1 & 0 & 1/2 & 0 \\ -3/7 & 0 & 6/7 & 0 & -9/7 & 0 & 12/7 & 0 & -8/7 & 0 & 4/7 \\ 0 & -1/3 & 0 & 2/3 & 0 & -1 & 0 & 4/3 & 0 & -2/3 & 0 \\ 2/7 & 0 & -4/7 & 0 & 6/7 & 0 & -8/7 & 0 & 10/7 & 0 & -5/7 \\ 0 & 1/6 & 0 & -1/3 & 0 & 1/2 & 0 & -2/3 & 0 & 5/6 & 0 \\ -1/7 & 0 & 2/7 & 0 & -3/7 & 0 & 4/7 & 0 & -5/7 & 0 & 6/7 \end{bmatrix}$$

### ACKNOWLEDGMENTS

The study is supported by Natural Science Foundation of Shandong Province (ZR2010EQ014), National Natural Science Foundation of China (50807034), Natural Science Foundation of Shandong Province (ZR2011EEQ025), National Spark Plan (2013GA740031, 2013GA740145, 2012GA740090, 2011GA740038).

### REFERENCES

Fan, Y. and J.L. Qian, 1994. Algebra Dictionary. Huazhong Normal University Press, Huazhong, China.

Lv, X.G., T.Z. Huang and J. Le, 2008. A note on computing the inverse and the determinant of a pentadiagonal Toeplitz matrix. Applied Math. Comput., 206: 327-331.

McNally, J.M., 2010. A fast algorithm for solving diagonally dominant symmetric pentadiagonal Toeplitz systems. J. Comput. Applied Math., 234: 995-1005.

McNally, J.M., L.E. Garey and R.E. Shaw, 2000. A split-correct parallel algorithm for solving tri-diagonal symmetric Toeplitz systems. Int. J. Comput. Math., 75: 303-313.

McNally, J.M., L.E. Garey and R.E. Shaw, 2008. A communication-less parallel algorithm for tridiagonal Toeplitz systems. J. Comput. Applied Math., 212: 260-271.

Nemani, S.S., 2010. A fast algorithm for solving Toeplitz penta-diagonal systems. Applied Math. Comput., 215: 3830-3838.